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HHR3—2 E%#_%(:1’FFﬁ?‘6&?@E$hé?§i¥(:E§l?’é$Iﬁ (1/2) _ _ _ _ _ _EJEIEEJE \ ERISERE
SIERMONE | ERES | 149A1011 I ERT% EMNETET B-9 Freith | ERTMERNEETH
SERMO TinICHEET S ZER A
g]gg TREOBEDZSENDAES ITHEDHESSENDORES TREDBEDESENDAES ITHEQRBESENORES
FELoma | BT T | B2 | e | oo | s | B2 | | T e | B8 e | & | Tave
| |100KN/mEEAS | 1.00[0.00 ~ 274 143.31|3m&E#B2 5| - ~ - - -| 100kN/ni%E#82% |  1.00| 11.29 ~ 23.98 143.31|3m%#82 % -~ - - -
Zhust 1.00{ 2.74 ~ 1053 100.00f Z+iust | 0.00 ~ 10.53| 2.96 15.86 Fhuist 1.00| 5.00 ~ 11.29 100.00] #hiust | 5.00 ~ 23.98| 2.96 15.86
, | 100KN/m%E#BZ5 |  1.00]0.00 ~ 024 103.55(3m%#25|0.00 ~ 0.01| 3.01 16.10| 100kN/m%#%% | 1.00( 16.88 ~ 18.06 103.55|3m%#8% 5| 15.00 ~ 18.06| 3.01 16.10
Zhust 1.00/ 0.24 ~ 8.3 100.00f Z+ist |0.01 ~ 803| 3.00 16.05 Fhuist 1.00| 5.00 ~ 16.88 100.00| #hiust | 5.00 ~ 15.00( 3.00 16.05
4 | 100KN/miE#BRS | 1.00]0.00 ~ 1.77 127.17|3m&E#BZ 5| - ~ - - -| 100kN/ni%E#82% |  1.00| 11.51 ~ 18.05 127.17|3m%#82 % -~ - - -
Zhust 1.00{1.77 ~ 956 100.00f £+t | 000 ~ 9.56| 2.63 14.08 hust 1.00| 5.00 ~ 11.51 100.00] £t | 5.00 ~ 18.05 2.63 14.08
4 | 100KN/M%EBZS|  1.00/000 ~ 163 124.95|3m&E#BZ 5| - ~ - - -| 100kN/ni%E#82% |  1.00| 10.55 ~ 16.07 124.95|3m%#82 % -~ - - -
Zhust 1.00{ 1.63 ~ 942 100.00] Zhuist [0.00 ~ 9.42 2.41 12.89 Zh st 1.00| 5.00 ~ 10.55 100.00| #hiist | 5.00 ~ 16.07| 2.41 12.89
5 | 100KN/mi%E#BZ5 | 1.00]0.00 ~ 222 13454| 3mE#BZ B[ - ~ - - -| 100kN/nMi%E#82% |  1.00| 10.56 ~ 19.18 134.54| 3m%#82 % -~ - - -
Zhust 1.00{ 222 ~ 10.01 100.00f £+t | 0.00 ~ 10.01| 242 12.95 huist 1.00| 5.00 ~ 10.56 100.00] st | 500 ~ 19.18 2.42 12.95
6 | 100KN/mi%E#BR5 | 1.00]0.00 ~ 1.99 130.74| 3m&E#BZ 5| - ~ - - -| 100kN/ni%E#82% | 1.00/ 10.53 ~ 18.00 130.74| 3m%#82 % -~ - - -
Zhust 1.00[1.99 ~ 977 100.00f £+t | 000 ~ 9.77| 2.37 12.71 huist 1.00| 5.00 ~ 10.53 100.00| #h it | 5.00 ~ 18.00 2.37 12.71
;| 100KN/miE#BZ5 | 1.00]0.00 ~ 1.87 128.84|3m&E#BZ B[ - ~ - - -| 100kN/ni%E#82% | 1.00| 10.87 ~ 19.09 128.84| 3m%#82 % -~ - - -
Zhust 1.00[1.87 ~ 9.66 100.00f Z+ust | 000 ~ 9.66| 2.25 12.02 huist 1.00| 5.00 ~ 10.87 100.00] £t | 500 ~ 19.09| 2.25 12.02
g | 100KN/mi%E#BZ5 |  1.00]0.00 ~ 327 152.30(3m%#82 5| 000 ~ 0.24| 3.12 16.71| 100kN/m%#%% | 1.00[ 10.54 ~ 32.00 152.30( 3m%#82 5| 2500 ~ 32.00| 3.12 16.71
Zhust 1.00{3.27 ~ 11.05 100.00| Z+ist | 0.24 ~ 11.05| 3.00 16.05 huist 1.00| 5.00 ~ 1054 100.00] #hust | 5.00 ~ 2500 3.00 16.05
g | 100KN/mi%E#BZ5 | 1.00]0.00 ~ 352 156.79(3m%#2 5| 000 ~ 0.33| 3.17 16.99| 100kN/m%#%% | 1.00[ 10.53 ~ 36.00 156.79| 3m%#82 5| 25.00 ~ 36.00| 3.17 16.99
Zhust 1.00{ 352 ~ 11.30 100.00| Z+ist | 0.33 ~ 11.30| 3.00 16.05 huist 1.00| 5.00 ~ 10.53 100.00| #hiust | 5.00 ~ 2500 3.00 16.05
10 | 100KN/ni%E#8Z% |  1.00{000 ~ 3.83 162.29(3m%#2 5| 000 ~ 2.30| 4.08 21.83[ 100kN/ni%#8%% | 1.00| 1054 ~ 5327 162.29(3m%#82 5| 2500 ~ 53.27| 4.08 21.83
Zhust 1.00{3.83 ~ 11.61 100.00| £+ st |2.30 ~ 11.61| 3.00 16.05 Fhuist 1.00| 5.00 ~ 1054 100.00| #hiust | 5.00 ~ 2500 3.00 16.05
iy | 100KN/m%E@ZS|  1.00[0.00 ~ 3.95 164.54|3m%#82 5| 000 ~ 2.42| 4.18 22.39[ 100kN/ni%#8%% | 1.00| 10.64 ~ 52.78 164.54|3m%#82 5| 2500 ~ 52.78| 4.18 22.39
Zhust 1.00{3.95 ~ 11.74 100.00| Zhist | 2.42 ~ 11.74] 3.00 16.05 Fhuist 1.00| 5.00 ~ 10.64 100.00| #hiust | 5.00 ~ 2500 3.00 16.05
1o | 100KN/ni%E#EZ5 | 1.00{000 ~ 3.82 162.09(3m%#2 5| 000 ~ 2.29| 4.08 21.82[ 100kN/ni%#8%% | 1.00] 1054 ~ 52.13 162.09(3m%#82 5| 2500 ~ 52.13| 4.08 21.82
Zhust 1.00{3.82 ~ 11.60 100.00| Zh st |2.29 ~ 11.60| 3.00 16.05 huist 1.00| 5.00 ~ 1054 100.00| #hiust | 5.00 ~ 2500 3.00 16.05
13 | 100KN/ni%E#8Z% | 1.00{000 ~ 343 155.20(3m%#25|0.00 ~ 1.17| 3.54 18.95| 100kN/m%#%% | 1.00( 10.64 ~ 48.63 155.20( 3m%#82 5| 30.00 ~ 48.63| 3.54 18.95
Zhust 1.00{3.43 ~ 11.22 100.00| ZFhuust [1.17 ~ 11.22[ 3.00 16.05 Fhuist 1.00| 5.00 ~ 10.64 100.00] #hiust | 5.00 ~ 30.00( 3.00 16.05
14 | 100KN/MiE#Z5| 100000 ~ 340 154.61(3m%#25| 000 ~ 1.14| 353 18.88| 100kN/mi%#%% | 1.00( 10.67 ~ 49.61 154.61(3m%#2 5| 30.00 ~ 49.61| 353 18.88
Zhust 1.00{3.40 ~ 11.18 100.00] Zhuust [ 1.14 ~ 11.18[ 3.00 16.05 Fhust 1.00| 5.00 ~ 10.67 100.00] #hiust | 5.00 ~ 30.00[ 3.00 16.05
15 | 100KN/m%EBZ5|  1.00[000 ~ 394 164.28(3m%#82 5| 000 ~ 2.42| 4.18 22.37[ 100kN/mi%#8%% | 100 10.63 ~ 51.51 164.28(3m%#82 5| 2500 ~ 51.51| 4.18 22.37
Zhust 1.00{3.94 ~ 11.72 100.00| Zh L5t |2.42 ~ 11.72] 3.00 16.05 Fhust 1.00| 5.00 ~ 10.63 100.00f ZhList | 500 ~ 25.00| 3.00 16.05
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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
17 100kN/m##8% % 1.00{ 0.00 ~ 1.87 128.74| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 12.64 ~ 31.80 128.74| 3m%x#B 25 =l ~ - - =
s 1.00{1.87 ~ 9.65 100.00f Z=hkist | 0.00 ~ 9.65| 2.79 14.94 s 1.00f 500 ~ 12.64 100.00f Z=hl4t+ | 5.00 ~ 31.80f 2.79 14.94
18 100kN/m##8 %% 1.00{ 0.00 ~ 3.37 154.16| 3m%x# %% 0.00 ~ 0.14 3.07 16.44| 100kN/m#%#B 2% 1.00{ 10.61 ~ 40.00 154.16| 3m%x# % %| 30.00 ~ 40.00| 3.07 16.44
s 1.00{3.37 ~ 11.16 100.00f Zhl4t | 0.14 ~ 11.16] 3.00 16.05 s 1.00f 5.00 ~ 10.61 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
19 100kN/m##8 %% 1.00{0.00 ~ 3.34 153.58|3m*x# %% 0.00 ~ 0.12 3.06 16.38| 100kN/m#%#8 2% 1.00{ 10.63 ~ 40.00 153.58| 3m#*x#% %| 30.00 ~ 40.00| 3.06 16.38
s 1.00{3.34 ~ 11.12 100.00f Zhl4t |0.12 ~ 11.12] 3.00 16.05 s 1.00f 5.00 ~ 10.63 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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